4.
ax+t6y=26

—3xtby=34

(x, v) = (=3, 5) A
—3a+30=6 —3a=—24 a=38
+94+5b=34 5b=25 b=5

5. _HOIEOEE +ONL « « x —OfL - - -

10x+y=4 (x+vy) +3
10yt+tx=10x+vy+9
10x+y=4x+4y—+3

6x—3y=3
—9x+9y=9
—3x+3y=3
+) 6x—3y=3

3x=6 x=2

6. FEFFEDF - - - x A SHEO0. 9x

7ty A — 1. 2y
x+y=50

l

0. 9x+1. 2y=51
9x+12y=510
—) 9x+ 9y=450

3y=60
y=20
x=30

MEFES 30 A
Zt 20AN



bl

8 0m T ZD#®E160m

ym

)
5

x+ty=2000

X y
+ =20
80 160

2x+y=3200
—) x+y=2000

x=1200
y=800

FOLEMER 1200m
FEEHEE=ES 0 Om

FIEOEX xm
SIEDOHE ym

60y=1260+x
—) 90y=2010+x

—30y=—750
y=25
1500=1260+x
x=240

%

B

E25m =FFE25mx 3600=90000m=MK5#9 0 km

FIEDEX 24 0m






